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QUESTION 1

You have a Scrum Team that has been working together for over a year. The Development Team consists of eleven
members who rarely collaborate and work within their functional boundaries. There are no Sprint Goals and most of the
items in the Sprint Backlog are unrelated. The Scrum Team has concluded that it is not possible to create Sprint Goals
based on the items in the Product Backlog.

What might explain why the Scrum Team is finding it difficult to craft Sprint Goals? (Choose all that apply.)

A. The Sprints are too long.

B. The Product Owner is not empowered to make decisions about items in the Product Backlog nor how they are
ordered.

C. The Product Owner doesn\\'t set objectives that he/she wants to achieve with upcoming Sprints.

D. Scrum might not be the best framework for this team.

E. The Development Team is too big.

Correct Answer: BCD

Many people misinterpret the Scrum Guide as stating the Development Team size is limited to 3-9 members. In reality, it
only states that there is inherent risk attached to having less than 3 members and more than 9 members. As the number
of members increases, the lines of communication also increase. This can be calculated using the Group
intercommunication formula: n(n - 1) / 2 where n is the number of members. Some teams are able to handle the risk and
"synergize" whereas others might struggle. Saying that, the relationship between defining a Sprint Goal and
Development Team size is unclear.

But the relationship between the ordering of the Product Backlog, the PO having clear objectives, and the Sprint Goal
are direct. The Product Owner typically comes to the Sprint Planning with a business objective in mind and Product
Backlog items related to the business objective. After deciding what can be done for the upcoming Sprint, the Scrum
Team will craft a Sprint Goal that would be met through the implementation of the items. This is not dependent on the

size of the team nor length of the Sprint.

Scrum is also a framework that\\'s fit for purpose. Some projects/products are not fit for Scrum... or, better stated, Scrum
is not suitable for all projects/products.

QUESTION 2
How should a Scrum Master coordinate the work when more than one Scrum Team is working on one product?

A. Teach them that it\\'s their responsibility to coordinate with the other teams to integrate and create a shippable
product Increment at the end of every Sprint.

B. Identify and manage the dependencies between Scrum Teams.

C. Have the Product Owner work with the tech leads of each team to parse the Product Backlog and minimize overlap in
User Stories.

D. Merge the teams and work from a single Sprint Backlog.

Correct Answer: A
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One of the benefits of self-organized teams is the ability to decide how best to work together to produce a shippable
Increment.

QUESTION 3
What is a good way for a Scrum Team to ensure that security concerns are addressed and transparent?
A. Add Security Sprints to resolve security concerns when needed.

B. Have the Scrum Team create Product Backlog items for each concern and/or add security concerns to the definition
of "Done".

C. Create a separate backlog for security items and only work on the items when a specialist becomes available.
D. Delegate the work to an external team.
Correct Answer: B

The Product Backlog and the Definition of "Done" are artifacts that promote transparency.

QUESTION 4

Which two behaviors would reflect Servant Leadership in a Scrum Master? (Choose two.)

A. Facilitating Scrum Events as requested or needed.

B. Coaching the Development Team, the Product Owner and the organization on how to work empirically.

C. Staying away from internal Development Team interactions, maximizing their autonomy and freedom.

D. Resolving every impediment for the Development Team.

Correct Answer: AB

The Scrum Master is responsible for serving the team by facilitating and removing impediments to ensure there are
minimal roadblocks in the way of the team. The Scrum Master also coaches the Scrum Team and organization to
ensure the benefits of Scrum is realized.

"Removing every impediment for the Development Team" may seem like the right thing to do but by doing it this way,
the Dev Team\\'s ability to self-organize would be limited. There are some impediments that will depend solely on the
Scrum Master and there will be some that require collaboration with the Dev Team. The former might be working with
the finance department to renew services that the team is using. The latter might be lack of skills to make a particular

item done. The Scrum Master can coach the team on finding different solutions to resolve the issue.

"Removing impediments"” is good. "Removing every impediment for the Development Team" is not so good and
sometimes not even possible.

QUESTION 5

During the Sprint Retrospective, the newest developer says that his perspective and ideas have been ignored by the
rest of the Developers throughout the Sprint. What Scrum values are touched here? (Choose three.)
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A. Openness

B. Transparency
C. Courage

D. Respect

E. Focus

F. Commitment

Correct Answer: ACD
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